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and leaves all other integers

unchanged.
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Write this in the cycle form

Compute the inverse.
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share no common element ,

we day that they are int

Example += /12345678234/8675
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(58) t

Hey
(6) " are 4
(7)

district cycles
in fo



f = 11234)0(5870(6) 0 (M)
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We consider them all as

elements if S'8.

=12234)0(58)

= 158)0(1234)



rem39
Any permutation can be

written as a composition
of disjoint cycles' .

This representation is unique

up to th factflat
· the cycles can be written

in any order

· each cycle can be started



at any paint
· cycled of length 1

can be left out·
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# Let + be an element is du
.

The order of f is defined to



be the number of times we need to

compose of by itself to get
to identity .

To put it another way ,
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The order of f is the smallest N

Sit . +N = 1
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--
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· The order ifIt 4 ina

is 4

P40 The order of a permutation
is the least common multiple



of the lengths it th cycles
(orders

in the disjoint cycle expression.
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since Ram i 252 is 2

t order ff is 2 .
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--
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According to Proposition 40 ,

th order if f is the km /3
. 2)

12345 1184(23) = 6
53214
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5 6 is the order if f.


